Math 346 Quiz 7
March 20, 2018

Name: A N gwé’@

Instructions: No calculators! Answer all problems in the space provided! Do your rough work on scrap paper.
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(a) Compute detd = k (You may consider using pivotal condensation to help)
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(b) Find4™1 = <— 2% 2 (Write “N/A” if A~ does not exist, and state your reason

in the space below. Otherwise, show your work for how you computed the inverse.)
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(c) Solve2x + 2y — =z
-y + z
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2. Define, via an equation, what it means for the matrix A to be symmetric: A - A
Bonus:

1. LetV be a vector space over a scalar field . Let ¥, U € V and suppose k, | € F. Which of the following are
_not a property of V? Circle the appropriate one(s).
e D=D- U o 1u=1u
e U+Tv=v4+1U e [ Foreachu € V,iful # 6, then there exists a
e (k+Du=ku+1lu vector U™ ! suchthat i - i~ = 1.
e Every i has a negative. (Remember, 1 is the multiplicative identity.)

2. LetU €V, where V is a vector space over a field F. What two conditions must U fulfill to be a subspace of V?

(i) d— (s ‘-lOSca( U"\O((’,( mo(o(lhoh.
(ii) lA L3 C[OSUX uv\dtf SU»J{OW' W\UH)}gllcqu«oo\.

(o) /1
t o (Write “inconsistent” if no solution exists)




